FEL IR i =5 L R U I A%

1000Vdc, 16A-250A

5. RPF282C-16...150/1000VDC
RPF182C-200...250/1000VDC

L IR T REA PR 22 7]
TLI3 A TRFA T A SCAS B8 [l 29

FH1f: +86 519 87289188 f£ 3. +86 51987693666
R 46 : sales@remc-filter.com  emcfilter@163.com




J\\REMC

1000Vdc, 16A-250A

LONHRE R, R L S AR ST Ppr -
N SFEM K HE CISPR 17 7 )

SISE

LT Te 2 A A B K e R

LA I A 22 S AT IR RN TR
FT P I P 2 B P S S 2 i, N I P Y0 ) 2% EL e LA e s PR Y e A = PR AN
Bk (E

200A Bz VA _E7= it iR 2 g as . T BLE d g A AR R A

i GEREEN
N T PR A, B IR A AT PN A F FEL B, T e L A R A T PR
Ja 3 B N R A SR B R Ak

77 R
IR REAN TG B, DA B AR AT AN ] g 1A it 2
s 2 1) 2 e AL BBl O R B Jm i, DA ORAT EMI 2 (14 78 7045

(RN E
DRI L R SR I COLB AR AR W PIRAT . IREE, T EMI S
EDON




Filter for Anechoic Chambers/ Shielding Rooms

1000Vdc, 16A-250A

BARSH
s 2125
BEHE (24 VR 1000VDC N
/5%
TAESZR fr
e HLR Ir S rE A% AR5 FE+40°C
- 1500 VDC, 2 s 212
0 ’ W
o P Vist: | 4500 VDC, 2 s 4 5
TV IR Ta -25°C~40°C
ﬁﬁ/}ﬁ'ﬁ EE/}?}JE ILeak
?é?' ‘ri EE//?%E Ireactive
AR 25/085/56
P2y
3 BRI T
) e L R
(A) 9N 51
RPF282C-16/1000VDC 2x16 M6 M6
RPF282C-32/1000VDC 2x32 M6 M6
RPF282C-63/1000VDC 2x63 M6 M6
100dB
RPF282C-1 1 VD 2x1 M12 M12 ’
82C-100/1000VDC x100 14k-d0GHz
RPF282C-150/1000vDC 2x150 M12 M12
RPF182C-200/1000VvDC 1x200 M12 M12
RPF182C-250/1000vDC 1x250 M12 M12




REMC

1000Vdc, 16A-250A

2 %

|
:

AlddNns

HAIFE (100 dB@14kHz-40GHz)

=500

Insertion Loss per Cispr 17

typical values at Z

14K

120

o o o o o o
S ® © F Q

(gP)SSOT NOILYISNI

10G 40G

10K 100K M 10M 100M 16
FREQUENCY (Hz)

1K




\/ | Filter for Anechoic Chambers/ Shielding Rooms

1000Vdc, 16A-250A

SAERST 1 2 x 16A
2x32A
RPF282C-16/1000VDC. RPF282C-32/1000VDC
I L P ]
Cover o
6@ S
D @
| | ;
L%
750
E &
SUPPLY
i\ t\
L & &
PE M6 PE M6 Connecting bolt M6 PE M6
@ Cable Gland M25 ( & 10~16)
(2@ Conduit Screw M24 ( ¢ 15)
B RT
190
450 110
f o o -
| 40105 |
\ \
g
\ \
| P25 |
\ \
oot @ D




\/ | Filter for Anechoic Chambers/ Shielding Rooms

1000Vdc, 16A-250A

ANERST 2 2 x63A
RPF282C-63/1000VDC
—— P —

(=2
©
©)
140

—
-
45

920 |
o L ‘ 7
SUPPLY LOAD ?
¢ |
o
wc\ N é
L @ & J
PE M6 PE M6 Connecting bolt M6 PE M6
@ Cable Gland M32 ( ¢ 18~25)
2@ Conduit Screw M33 ( ¢24)
BT
190
620 110
F s o -
| 4-010.5 }
| |
T g _ _ _ _ _ _ __ [ _
| - |
| |
| ®35 |
| |
..t o »




\/ { Filter for Anechoic Chambers/ Shielding Rooms

1000Vdc, 16A-250A

AMERSE 3 2 x 100A
2 x 150A
RPF282C-100/1000VDC. RPF282C-150/1000VDC

oo oD

1000

\
@
P

SUPPLY LOAD

PEM8 PE M8 Connecting bolt M12 PE M8

(@ Cable Gland M63 ( »44~51)
(2 Conduit Screw M60 ( $50)

AR
200
650 120
F7777 7777777777777777 o o
| 4-©10.5 |
\ \
18 _ _ _ _ _ _ [ 1
\ N \
\ \
| 63 |
\ \
I e o _ _J




\/ | Filter for Anechoic Chambers/ Shielding Rooms

1000Vdc, 16A-250A

SMERST 4 1 x 200A
1 x 250A
RPF182C-200/1000VDC. RPF182C-250/1000VDC
Cover “
©) | ® |
1150
r {B $ ~N
SUPPLY LOAD
©
| o
2l -
C@@
C
PE M8 Connecting bolt M12
(@ Cable Gland M32 ( ¢ 18~25)
(2 Conduit Screw M33 ( $24)
ZHRR
175 ‘
800 95 4
F N o
| 4-010.5 |
\ \
e A
\ \
\ 35 \
\ \
e e _J




\/ | Filter for Anechoic Chambers/ Shielding Rooms

1000Vdc, 16A-250A

FE 2R e AR BN I Z 1T, - A R P A 22 A AN T ke, X L [A) R
TUEB A LB T . MR LR AP, A DSR2 R MR 5 1 5 1%
M.

U SR ARG =4 (1) 22 S 5 il R T 7 ORI &
PR X I R N

I

REx RN RSET, PEA

Warning

R OR AT G N A e e, $RAE ., dEEAYEy S5 TR,
IRAEBORBHRAL ] (HiE ik BUE IR . BUE B AN I b 5O
LREPEPAIT s N S AT IR B

TEB A WA A AT T BUR . 55465 3 208h, SRR T i 5 R
FIFIER S T i Hi, BT FL R

o
o
o
([ J
([ J
o [ AR P A R BT 230 el 4 .




